E. The D, Groups

Dy | E Gz) Gy) Glx) |

A 1 1 1 1 x2,y%,22 | xyz

By 1 1 -1 -1 z, R, Xy 23, z(x? — y?)

B |1 -1 1 -1 7R, | xz yz2, y(3x% — ¥%)

Bl1 -1 - 1 | x,R, | yz xz2, x(x? — 3y?)

Dy | E 2CG3 3G, | (x axis coincident with Cy)

A 11 1 x2 4 y2, 22 x(x? = 3y?)

A1 1 -1]zR 23, y(3x2 — y?)

E 2 -1 0 (x1y)a(R.X7Ry) (xl-y27Xy)!(xzv yZ) (xzzayzz):[x.yzvz(xz _yZ)l
D, | E 2C4 Cy(=C}) 2C) 2CY | (x axis coincident with C})
4|1 1 1 X2+ y2,22

A1 1 1 -1 -1 |zR 2

B |1 -1 1 1 -1 x2—y? xyz

B |1l - 1 -1 1 xy z(x? — y?)

E 2 -2 0 0 (x7 y)v(RXvRy) (xzv yz) (XZ2,y22), [x(x2 _3y2)ay(3x2 _yZ)]
Ds | E  2Cs 225G, | (x axis coincident with C3)
A4 ] 1 1 1 1 x2+ y?, 2%

Ay | 1 1 1 -1 | z,R, z3

E; | 2 2cos72° 2cosl4d® 0 | (x,»),(ReR)) | (xz,¥2) (x22, y2?)

Ey | 2 2cosl44° 2co0s72° 0 (x2 = y2xy) | [xyz,2(x2 — y)], [x(x? = 3p%), p(3x2 — y2)]
Ds | E 2Cy 2C3 C 3C) 3C) (x axis coincident with C;)

A 1 1 1 1 1 1 x4+ y?, 2%

A 1 1 1 1 -1 -1 z, R, z3

B |1 -1 1 -1 1 -1 x(x2 —3y%)

B |1 -1 1 -1 -1 1 $(3x2 - »?)
EEl2 1 -1 =2 0 0]y, R,R) | (x2,2) (xz2, yz%)

E, |2 -1 -1 2 0 0 (x* = y%xy) | [eyz,2(x* = y2)]






